Ι вариант                                  ΙΙ вариант

1. Выполнить действие:

а) 5×2³-3²                                         а) 6²-3×2³

б) -1°+(-1)°                                       б) (-1)³-[image: image2.png]



2. Найдите значение выражения:

-[image: image4.png]


; при х=-2                                    -х³ ;  при  х=-3

3. Упростить выражения:

а) [image: image6.png]


 ×[image: image8.png]


/[image: image10.png]


                                          а) [image: image12.png]18



 /[image: image14.png]15



 ×с²

б) ([image: image16.png]


)³×а                                           б) (а²)[image: image18.png]


  /а

в) (-2х)[image: image20.png]


                                             в) (-7у)²

4. Вычислить:

а) 20³×0,5³                                      а) 0,25²×100²

б) 4×[image: image22.png]


/2                                          б) [image: image24.png]


/[image: image26.png]


 ×9

5. Представить в виде степени с основанием у:

((у²)³)[image: image28.png]


                            ((у³)[image: image30.png]


)[image: image32.png]



